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(37 -1= (8T +(=3)=
()P + (=7 = (-10)"? = 5=
7" -10= 8 +(-5) =
10° +5 = 5 +2=
6D +5 = (=3)" = (-6) =
(—8)*+5= D) 5=
(-3)D —g = -9 -10=
D) —=(2)= (9)-(3)=
8P +10= 100D +3 =
(-3)7 - 6= 1= (=5)=
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(—3) I=(3) (=8) "+ ()= (5= (39)
. 566 80 . 499 99
9 +(=7) = (—g7) = (F6g7) (—10)7 =5 = 100’ = 4700
. 489 48
) 2)—10=(—4—9)=(—9@) 8% +(=5) =59
10> +5 =105 52+2=27
_ 31 1
670 +5= "= =5 (3> —(-6) = 15
(—8)> +5=69 (-1 —5=(-4)
N PSR N | oD o= 2l
(—3) 8=(73)=(%3) (—9) 10= (=)= (-105)
—H-(=2)=1 (=9 —(=3)=(-6)
@ 0L AL §
8D +10= - =10 1077 +3= 15 =35
_ 53 8
(3 =6=(3)=(53) 12-(-5)=6
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